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#Finclude <stdio.h>
#include <stdlib.h>
int function(int n)
{
if (n < 10)
return n;
int sum = 0;
while (n > 0)
{
sum +=n % 10;
n/=10;
b
return function(sum);
b
int main()
{
int n = 12345;
int output;
output = function(n);
printf("output%d\n", output);
return 0;
b
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1+2+3+4+5=15
1+5=6
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(a)

push: 123,234, 345
pop: 345

stack: 123, 234

out order: 345

(b)

push: 456, 567

pop: 567

stack: 123, 234, 456
out order: 345, 567
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(c)
push: no
pop: 456, 234, 123
stack: empty
out order: 345, 567, 456, 234, 123
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#include "stdio.h"

int f(int a, int b) {
if(a%b == 0) return b;
return f(b,a%b);

b

int main(void) {
printf("f(21,9) = %d\n",f(21,9));
printf("'f(6,44) = %d\n",f(6,44));
return O;

}

L (Fxars ) %k
2. (faiEhidt) i S A AL PRAP R 2T
3. {f® F®) &7 F pg 56-60

(%% ]
DR R S SRE

A2 gm A
f(21,9)=3
f(6,44) =2

<

RTINS ER LR ? (25 A)
#include <stdio.h>
#include <stdlib.h>
void function(int a, int b)
{
printf("a=%d,b=%d\n", a, b);
for (1=0;1<8;i++)
{
if (I(a>10 && b<10) && (a<=10 || b>=10))
{
a=a+1;
b=b-1;
printf("a=%d,b=%d\n", a, b);
b
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int main()

{
intx=>5;
inty=10;
function(x, y);
return O;
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a=5,b=10
a=6,b=9
a=7,b=8
a=8,b=7
a=9,b=6
a=10,b=5
a=11,b=4
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